A& & Al A

02T E04 ABIEH QABIAR
SN QEMRR
Zal: XYols 2Y XV (LBBIH/YHULIIBL)
ol ZRlolsla HEY (Sr9): @)
SA - H - C9l(3) - HIRAR - BaS Of e el HI DS
SENEE 1,846,865 1,717,515 129,350
Ngols] 28 N(LBITHP/ e LI z2l) 1,502, 122 1,392,473 109,649
EREEICE-H 240,410 178,930 61,480
o¥zs B8 Yst 160,500 115,500 45,000
201 Yk 148,500 115,500 33,000
01 AF= 2l 148,500 115,500 33,000
OIHES OHYMT HIX 5,0002 * 500 2,500
OolmEs BEBR 90,0008 * 128 10,800
OZHX 7 50021 * 2,000} 1,000
o= M 40024 * 5,0000 2,000
OZ0IHY M 2,0002! * 50004 1,000
Ool5/yel|E(22)3 HN
10,0002 * 1,000 10,000
OSEBA0H(HE) M 250,00081 * 4% 1,000
SEE-ELTH 2,000,002 * 403! 80,000
OETCET=SSNE{- 1,200,008 * 63 7,200
OAZAAT R 12,000,000 * 23] 24,000
OolZ A RIZHBLH ©15]) 45,0008 * 2005 9,000
405 RHeHES | 2,000 0 2,000
01 RHAILSEFHSY| 2,000 0 2,000
Ool¥ERE Yy ZSIE 7Y
9,000,000 * 14! 9,000
O#AIE 2T g 3,000,0002! * 1CH 3,000
AlRITH E5Hs o5l P 79,910 63,430 16,480
201 Yer2H| 67,460 62,230 5,230
01 AF= el 18,560 9,830 3,730
OslolZ 0 S WX 8,750
=L 35,0002 * 2504 * 23] 1,750
N 35,0002 * 2504 * 83 7,000
OSIANIE PEDY HEET 2
50,0008 * 401 600
CEEIN 100,008 * 24CH * 20/100 480
OFFNEEIET - EBIE 3,730
—HAH90 S M 7,008 459 315
—HAH93 ARS M 20,0008 * 149 280
—HAH0lE BREA X
55,0008 * 15202 85
—HAH3| XACH 519 BA 2
70,0008 * 11% * 331 2,310
02 ZZ2YH| 3,400 32,400 0
SEEENIEIERS 950,008 * 122 11,400




Zelolsly B (9 &8)
S - I SR(S) - AIRAR - BAS Lo el Hl D2
O2E &7 RERS 100,000& = 102 1,000
Ozlel FaIIFS 2kl 0HM AAI
4,000,000& * 53 20,000
03 &A=& 21,500 20,000 1,500
Odf?dz=2t 3l & MOILE JHE
20,000,000 = 14 20,000
OFAdg ATE = 1,500,000&  14] 1,500
207 A=K 9,000 0 9,000
02 & AHHE 9,000 0 9,000
ORNIOtH 2l2| JH0l E SHIOIXl JHE
9,000,000& * 14| 9,000
301 LEEdS 3,450 1,200 2,250
09 BAMAHIXES 2,250 0 2,250
OFAHCg HdNolg o|dAs
90,000& » 256& 2,250
12 JIEt2ei= 1,200 1,200 0
Oaes & S| 2ol FAT AH|2Y
80,000% * 5& * 33 1,200
2P FSSIPS RSy 1,261,712 1,213,543 48,169
AXI23] Sgdat 931,475 899,023 32,452
201 ZetE2gy| 27,790 27,790 0
01 At=2teld 27,790 27,790 0
OXE A WS 700,000& * 102 * 23 14,000
OXgelel AdRAHE W=
200,000 * 6 1,200
OBRRo4 AMFIHE| FHLY
70,0002 * 5& = 43 1,400
O&E2E wA=AH 7Y 15,0008 = 200 3,000
Ot27=E 10,000& » 0= = 12 3,600
OAFEEX 7= 4,590
— XS 5,000& » 208 » 128 1,200
— K2R 6,000& » 202 » 122 1,440
— XX E 5,000& » 2082 » 12& 1,200
—JIE 150,000& * 55 750
202 O 36,000 44,000 28,000
04 =Hi=t0ibl 36,000 44,000 /8,000
OU=KHEAl &2 & =HusE =
2,000,000& » 2 = 43| 16,000
OJI=XE2IS| AR il
2,000,000 » 4% = 13 8,000
OBASEARS! 2BEOI5| THolois =3
2,000,000& * 5% 10,000




M 23

Zal: XYols] 2Y KV (LBBIH/YHUHIBL)
Chel: B|® oFEX (Sr9): @)
SA - FH . C2(32) - MISAIY - BAS 0fl by el AImE=ST
SEEEENEC S EEEICEEEEs!
2,000,000& » 1 2,000
205 2|3l 858,685 818,233 40,452
01 2 H &=t 184,800 184,800 0
@RIPSE- =1 184,800
—oY N2 4T T
900,0002 * 14 * 122 151,200
—SXESH| 200,000& = 14% » 123 33,600
02 284 317,772 309,119 8,653
@r-FSEa= 1,891,500& » 14%H 128 317,772
03 S| =3LH0Y| 45,360 45,360 0
Ol MIDILH, 914 S 2JFEX oyl
90,0002 * 14Z * 32 + 122 45,360
VEEEIVT 35,350 7,350 28,000
OSBAAL 2HEIS], KHohiel
7,350,000 » 14 7,350
OYFAS VAP S BRI
2,000,000& = 14 * 15 28,000
05 ¥ =2d3S&E 74,200 74,200 0
OSIHSYBEAY 400,008 + 14F + 122 67,200
OSgeI2s| 1,000,008 * 7% 7,000
06 oI5| 2F AR =T 67,560 67,560 0
Ool& 2,100,000& = 1H = 128 25,200
OoR9% 1,000,000& » 1¥ = 123 12,000
ONUAREY 660,000& * 3H 128 23,760
OLHBAMSEHERIAE  660,0008 » 1€ * 108 6,600
07 Sl AN (ST, XA LK) 8,400 8,400 0
CEE IS 200,008 * 14% * 33 8,400
08 QA SINLHI(RIZHAIE) 19,320 18,200 1,120
O2E A= 690,000& * 14F 23] 19,320
09 2 E FZIH LI 70,000 70,000 0
SEEEESIENHEEI-EE=ENE)
5,000,000& » 14H 70,000
MEEEERE=E 10,500 0,500 0
OFR AlRol3] oJmEoly 22
10,500,000& * 123l 10,500
11 oI ASRE S 14,300 11,924 2,376
0ol 2013 223
1,891,500& * 14 » 4.5% » 128 14,300
12 )2 HARES 11,123 10,820 303
SELIELEERET
1,891,500& * 14H * 3.5% * 12& 11,123
301 LEBHS 6,000 6,000 0




SN QlBIAR

& Xgols 29 X3 (Les3aF/ydLiize])
&2l EII& S (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
07 28I=&HNHb| 6,000 6,000 0
OXNMEAl & FHUFEAl 28IEZFH0L]
1,500,000& * 4H » 13] 6,000
405 THAHF SHI 3,000 3,000 0
02 =M= 3,000 3,000 0
O232d M2M 7 30,000& * 100& 3,000
Had=E 329 325,237 294,020 31,217
101 QI1244| 50,564 48,135 2,429
04 DI H22 RS ES 50,564 48,135 2,429
OBAEY B2FY o A2 019y
73,2802 » 5% » 10 3,664
O=3l9], AR 292X Y 395 Hel
oIf 73,280 * 29 * 80 11,725
O&dial & A2 398 &4 & ol IRY
73,2802 » 6% » 80 35,175
201 LEt2 | 165,201 125,145 40,056
01 AtR2telt| 53,132 46,732 6,400
OdEx kg 7ol 10,000& * 202 * 105 2,000
O8l==2 M= 60,000& » 108 600
OLT YEFFA Mal Rl 30,000& » 208 600
O2212% & QJANPY &A= AEH|
1,600& * 32004 512
OZdlal & YAlal, 2tHel & =HISS
00,000& * 103l 6,000
O=0l,J|2HH 2tEs 29 858 7+
300,000& = 123 3,600
OFAI edze|gs w2
5,000& * 10& = 303! 1,500
OFAL &+ EH| 2,500,000& * 12| 2,500
O NE SEXE AR
2,000,000& * 123 24,000
O3JI18&7| 2H A 110,000& » 22CH 2,420
OIZL &Y I2 ARE 72
3,000,000& * 14! 3,000
Oolzal & 23|90 230 S WA
350,000& * 28 = 24 1,400
Ot o|¥ s&et Y HIY S M
5,000,000& * 14 5,000
02 2222l 104,069 78,413 25,656
o237, dRrtz HaH|
900& » BAIZF » 120 * 8CH 6,912
O237|, ds4H=Z2 |l 200,000 = 6CH 1,200
O] S| 7,000
—HHED(HEE) NMEAZ |
200,000& = 30CH 6,000




RECENCE
& o3 2 NA(LetsSy /gy adizel)
ool 2O1& oFEA (crel: &8
S - R - SRIEH) - ARAY - BAS e G HIDE2
—HHED[(AREE) XY
200,000& = 5CH 1,000
OgsEHl |RAZ+H| 2,000,000& » 128 24,000
O=2#, 3lols AE=A| 200,000& * 52 1,000
OAE= AL 5,540
—ST(E2 104 014) 2,500& * 1,182m’ 2,955
—39S(E2 10 0/4})
2,500& * 1,034m’ 2,585
OXtg= X 20,000
—350H13675(S 2, ATNE, PASLR)
10,000,000& = 1CH 10,000
—282H2343(SE, ERE, 3R)
5,000,000& = 1CH 5,000
~TIETAB(EHEE, YTE, 2R
5,000,000& » 1CH 5,000
OAdE tdalE FI18
4,500,000& = 33 13,500
odlal 2 30,000& = 1004 = 43| 1,200
OFAL &= 180,000 * 52 900
OZZLt ol FAL &= 345,980& * 532 18,337
O34 E9 3,200,000 * 14 3,200
Ocisl =2 3 M2 4ot 5% 83
1,100,000& * 14] 1,100
OYLE HEAPRC 3ld AHEZ
15,000& » 12& 180
03 &A=& 8,000 0 8,000
ONIOU 2l2l AL & 2e|AUH0lE 8,000
—IHZ AL 3,000,000& » 14 3,000
—22/HI0lA 5,000,000& » 14| 5,000
203 BR=&H| 18,900 18,900 0
03 AIZF=AIHI Y| 18,900 18,900 0
O2AMF= F2ER =8
8,100,000& 14 8,100
O2Az2g g8 =& 6,300,000& » 14 6,300
O2IHAAF I AIY9IRI5| 2
4,500,000& = 14| 4,500
401 AlEHIYL SO 50,000 80,000 230,000
01 Al£H] 50,000 80,000 230,000
O2glM&t AIZEHl & LHFRE
20,000,000 * 14 20,000
O2zlz2t AL RN
30,000,000 = 14 30,000
405 KH&HFS=HI 40,572 13,200 27,372
01 R =ZF S| 40,572 13,200 27,372




RECENCE
& o3 2 NA(LetsSy /gy adizel)
chel: &D|7 OFEA G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
O23ANR= 2235 MF=E 78 15,772
—AIRE MY Y 305,000& * 72+ 2,135
—ANRE 0ISAE 7Y 195,000& * 7H 1,365
—AIRE X 7Y 280,000& * 72¢ 1,960
—2[2E HI0IZ 7Y 420,000& * 1K 420
—3og X 70,0002 = 72+ 490
—AIRE IR 2 (4=0)
340,000& = 1474 4,760
—MNRE IR FE(FE=0)
410,000& * 2H 820
—AIRE IHHIR P (2E) 195,000& = 1M 195
—ElE 1 186,000& = 187K 3,348
—IlElE TS 7+ 30,000& = 504 150
—IIEI& Otz 2 12,9008 * 1004 129
O23IANR= =23 AIREHl 7Y 24,800
—DE=AD] PY 20,000,000& = 1CH 20,000
—HA A9 500,000& = 1CH 500
—SANAMEI 2 1,300,000&  1CH 1,300
—d&0 FY 1,000,000&  1CH 1,000
-V 7 1,100,000& * 1CH 1,100
—3J1380 7 900,000& = 1CH 900
A HESIXIH 5,000 20,500 15,500
201 YBr2gH| 5,000 20,500 15,500
03 A2 5,000 20,500 A15,500
Oda=k A2z A& 23| Al
5,000,000& = 13 5,000
HAE2HAYI(2ASIAIR=) (JIEHDIE} 344,743 325,042 19,701
el 24| 181,559 174,368 7,191
elgEa| 181,559 174,368 7,191
101 e124b] 181,559 174,368 7,191
01 2= 100,934 99,911 1,023
O2BIAIR2 AlZtl2eay 100,934
—aet 10,9523 * 169 » 3BAIZ+ » 12E 79,906
—oF ™M & 283
10,9523 = 2% » 80AIZt = 122 21,028
03 SRH(RIH) 222+ 80,625 74,457 6,168
Ot 2| 36,388
—Jl== 2,036,210& » 18 » 128 24,435
—gESHl
2,036,210& » 75% » 198 » 23] 3,085
—d2+E 2,036,210& » 20% = 1& » 2& 815
= a={Pl1=)) 20,0008 » 2& = 122 480




RECENCE
M AY2IIYI(2AZAR=)(DIEHIIE
crel: o2y G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
NHEECSES:
12,1083 = 150% » 15A12F » 1 » 123 3,270
—dxmaERIeeE 96,8643 * 18 » 15 1,453
=R r=tals] 140,000& » 1& » 128 1,680
—uWSE x| 100,000& = 1& = 128 1,200
OHIA2# 44,237
—Jl== 2,435,450 » 18 » 123 29,226
—ZSESIHI
2,435,450 * 75% » 18 » 23] 3,654
—gd2+E 2,435,450 = 50% * 198 » 23] 2,436
—JEE(01E 20,000& » 2H » 12& 480
A EER
14,2573 = 150% = 15A12H » 18 » 12& 3,850
—HRsEFIg 14,0563 « 18 » 152 1,711
—ZHSAHI 140,0008 » 1&8 = 122 1,680
—uWSExH| 100,000 = 1& = 122 1,200
Jl=34 163, 184 150,674 12,510
Jl=2& 163, 184 150,674 12,510
201 k=2 71,564 61,094 10,470
01 AtR22|H 26,244 24,294 1,950
O=AMEXN 7Y 16,000 » 192+A » 123 3,648
OS20HAldI 7,000 * 64 * 1998 » 12& 9,576
Otz 100,000 = 128 1,200
Oam2 EA7H 50,000& = 12& 600
O478 =4t 10,080
—SADI(TE) =2 1,000,000& * 3CH 3,000
—ZelEdl ==cl 100,000 * 2CH = 50/100 100
—SAPDI EY 200,000& = 52| = 3CH 3,000
—IRIE(S%W) E4  200,0008 = 53| * 2K 2,000
—IglIEf(Ze]) EW 200,0009 = 53] = 1CH 1,000
—PC #=cl 100,000& = 19CH = 20/100 380
—JIEt ==cltl 50,000 = 123 600
OJIEH AFR2t2IH] 5,0008 = 198 » 1238 1,140
02 SS=2gH| 45,320 36,800 8,520
O=SMEs 2RSS 120,000& = 12 1,440
Odate=a 2,880
—2Btd g} 70,000&  2CH = 123 1,680
—=CHA& 3 100,000& = 104 = 123 1,200
Oo&IIRa 3,000,000& * 12& 36,000
O8Il HBA =2 150,000& = 12 1,800
O4g HNEY =2 1,000,000& * 23] 2,000
OREYsS AME= 10,0002 * 601 » 123 720




2A: 2BAR=
M AY2IZYI(2AZAR=)(JIEHIIE
el Jl=3l (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
OAdeSs AER 20,0008 * 204 » 123 480
202 Ol 75,240 73,530 1,710
01 =LHAOLI 75,240 73,530 1,710
OZLH0BI 20,0003 = 1998 » 12& = 128 54,720
O22| 04| 90,000 » 19& = 12& 20,520
203 HRF&| 9,180 8,850 330
01 D228 LR 3,300 2,970 330
O2eME=E A2 SR
3,300,000& » 1 3,300
02 HAOKHRFAY| 1,680 1,680 0
OFEIRIGEFAH| 80,0003 » 21 1,680
04 EMEgE 24 4,200 4,200 0
OFAM2YE 2= 350,000& = 12 4,200
204 X 2| 7,200 7,200 0
01 MM SR HY| 7,200 7,200 0
OXHUZADRLSHAH| 7,200
—22 A= 350,000& * 19 123 4,200
—HE22I2(53) 100,000& » 2& » 12& 2,400
— N2 (62) 50,0003 » 1& » 12& 600






